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Jerry has 4               in his gaming 
area. His brother gives him 3 
more               . How many           
does Jerry have now in his 
gaming area?

Lauren has 6      . She gets 2 
more      from her friend Emma. 
How many      does Lauren have 
altogether?

There are 5       sitting on a tree. 
4        join them. How many       
are on the tree now?

ADDITION WORD PROBLEMS

Grade 2

Use the space provided to draw and solve each word problem.
Next, write the problem as an addition statement
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Adrian has 3       . He buys 5 more   
.     . How many       does he have 
with him now?

Liam has 3               . His cousin 
Jordan gives him 2 more              . 
How many              does he have 
in total now?

Frazer has 4        . Flame has 7       . 
What is the sum?

ADDITION WORD PROBLEMS

Grade 2

Use the space provided to draw and solve each word problem.
Next, write the problem as an addition statement
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I have 9         . I buy 4 more         . 
How many do I have now?

Lucy picks 4         . Her brother 
picks 1         . How many        do 
they have together?

There are 3        in the yard. 5 
more         come. How many       
are there in total now?

ADDITION WORD PROBLEMS

Grade 2

Use the space provided to draw and solve each word problem.
Next, write the problem as an addition statement
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